Grade 5 Module 2: Mid-Module REVIEW

3. Solve. Use words, numbers, or pictures to explain how your answers to Parts (a) and (b) are related.
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4. Multiply using the standard algorithm. Show your work below each problem. Write the product in the
blank.
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5. For afield trip, the school bought 45 sandwiches for $6.60 each and 38 bags of chips for $1.25 each.

How much did the school spend in all?
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6. Jeanne makes hair bows to sell at the craft fair. Each bow requires .5 yards of ribbon.

a. Atthe fabric store, ribbon is sold by the foot. If Jeanne wants to make 84 bows, how many feet of ribbon
must she buy? Show all your work. ~ -
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